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INSTRUCTIONS FOR CANDIDATES 1

Answer all questions.
All questions carry equal marks. f
Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as

wrong answer.

5. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the ‘
examination hall is strictly prohibited. A candidate found with f

any of such objectionable material with him/her will be strictly

|
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dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or
factual nature, then out of Hindi and English Version of the
question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.L.R. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently from
all future examinations.

Do not open this Test Booklet until you are asked to do so.
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In adolescence,,‘boys:’ voice deepens due to —

(1) Enlargement of pharynx
(2) Enlargement of windpipe
(3) Enlargement of trachea
4) Enlargement of the larynx

A particular described distances 25m and 33m
in 5% and 7™ seconds respectively, moving
under constant acceleration in a line. Its
acceleration is -

(1) 2 mfsec?

(2) 6 m/sec?

(3) 4 m/sec®

(4) 8 m/sec?
Let 3=(2i-j+k), b=(i+2j-k) and d=(i+j-2k) be
three vector. A vector in the plane of b and 2.
whose projection on 4 is zero, will be -

(1) -2i-j+5k

@ j+k

@ j-k

@ i+j-k
A physically disabled student worked hard in
academics and achieved merit in board
examination. This type of ego defence
mechanism is called —

(1) Sublimation

(2) Rationalization

(3) Identification

(4) Projection

It H=xi+2y]+32k then [, H.AdS is
equal to (where A is the volume enclosed
by S) —

1) 3A

(2) 6A

3 A

4) 4A
Which of the following is an odd function?

@ Ix]

(2) coshx

(3) xsinhx

4 ee*+1

eX -1

GET IT ON
Google Play

freiRrEen ¥ wrsd! & Jmars (@) 8 S
3

1 T (BREE) & 98T D PRI

(2) TARFG B 96 D HRI

(3) T D TG T RO

@) Foae @RTE) & 989 & RO
3R WXl % I Rl Y@ # e gall

U BT 59 q 79 AdhvS H HHE: 251%./

gorr 33 ). S, Terar ¥ $HBI @RI § —

Q) 294/

2) 6. /JHvs?

3) 49./9F0?

@ 89 /dAwos?

a7 3=(2-j+k),b=(+2j-k) @
o=(i+j-2K)qF afRw & b ¢ a1 §
T feer R 3 U ueY g 8, 8 —
(1) -2i-j+5k

2 j+k

@ j-k

@ i+j-k

RIS wu § e (i) faemit dfde
&7 ¥ g AeTd o drs gl § ARke urw
R o & | TS IEA <&l IR FEerd § —

(1) SERIPRE

(2) gfdasRor

(3) TSTHIHRT

@y wemor
aft H = xi+ 2yj+ 3zk &, @ [f, H.AdS
gw%(ﬁs%mmngA

) _

1 3A

(2) 6A

3 A

4 4A
=1 weri # § fouw wow B @ 87
1 [x]
(2) coshx
(3) xsinhx
4 e+1
ex—1
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7. Ifx*y —2x+y=0; |x| <1,then 7. AR xPy—-2x+yE0; K <1,Td
3 5 3 5 5 3 S
[P+T+Ls]/[x+T+Z +0] [y+y3—3+y?+ VLS
is equal to - 2
. 1) 4 1 4
} @ 2 @ 2
@ 1 3 1
2 2
~ @ 1 @ 1
4 4
8. The third divided difference of -,1; based onthe 8 g3l xo, x1, X2, x3 W amEnRa i BT A
) points X, X1, X2, X3 1S — o sk & —
@) L @ 1
X0 X3 Xz X3 Xg X1 X2 X3
) e 2) -1
Xo X3 X2 X3 Xo X1 X2 X3
@ 2 3 2
Xg X1 X2 Xg X1 Xz
| @ _ @
Ko X3 X2 Xg X1 X2
9. Which of the following teaching aid is most 9. TUSIR & Fvq ¥ P WK, FraferRaa
effective according to Edger's cone of | BT Rt WeE Al watite g
experience? 27
(1) Motion picture o T - R=
(2) Experiment 2 T
T (3) Working model @) RN Hise ()
10. Geometrical meaning of Lagrange’s linear 10. <R gw il @ed  aiieRor
partial differential equation Pp + Qq=R is - Pp + Qq =R &1 I 3f 8 —
(1) Normal at point (x, y, z) of any surface M) 8 g9 fx, 5,20 =0a Rg
f(x, y, z) = 0 is perpendicular to a line (% y,2) R e 7 Wi v B
hose direction ratio’s are P, Q, R 9T B B R fm g
whose direction ratio’s are P, Q, P,Q,R 2 &
(2) Normal at point (x, ¥, z) of any surface 2 f&i TS f(x,y,2)=0 B ﬁr—g
f(x, y, z) = 0 is parallel to a line whose (X, v, z) W ANcid TF VO G B
{' = direction ratio’s are P, Q, R HIN B €, e ﬁ?ﬁ STUId
(3) Normal at point (X, y, z) of any surface P,Q,R ¥ ¥
() N IS f(x,y,2) =0 f&35
i(x, y, ) = 0 make an angle of 45° to a (x,y,z)q?(ﬂﬁ?rl"e[ T Ul W |
line whose direction ratio’s are P, Q, R 45° 1 PO I 8 e R{e
(4) Normal at any point (%, y, z) of any ¥JUe P,Q,R BRI ¥ + g
~0i : 4 1 IS f(x,y,2)=0
urface f(x, y, z) = 0 is perpendicular (¢
5 5§ ¥ )dir .prp., (xy,z)WWWWQ@TEﬁ
to a line whose direction Iftlo s are i B 2, R e ST
p,q,—l p:q, - laﬁ%
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IfR=({0,1,2,3,4,5}, +s, Xs), then R is -

(1) afield

(2) adivision ring

(3) aring with zero divisors

(4) aring without zero divisors
Equation of the axis of right circular cylinder,
whose guiding curve is X2 + Y2+ 22 =4; x + y +
z=2,is-

Ay x=2y=2z

(2) 2x=y=2z

(3) 2x=2y=z

d) 2x=2y=2z7
If A={1,23},B={3,4}andC={4,5,6},
then (AXB) N (A X C)is-

1 {(1,9,(1,5),(1,6)}

@ {(2,9,25).(2,6)}

@ {(3,4).3,5.(3.6)}

@ {(1,9, 29,369}

11.

12.

13.

afE R=({0, 1,2, 3,4, 5}, +6, Xe), &l RT —
(1) TS &
(2) TS [T gory
@) T ¥ ol AT ge™
(@) P | T W T
THgaE 9o Rraer  FRwie %
Ry rZ2=4;x+y+z=2 B BT 3G BT
HHBLT § —
Q) x=2y=2z
2) 2x=y=2z
3 2x=2y=1z
@ 2x=2y=2z
af§ A ={1,2,3},B = {3,4} =
C={456La (AXB)NAXOE -
™ {(1,4,(1,5),16)}
@ {(2,4).(2,5),2 6}
@ {3B,49,3,5,36)}
@ {(1,9,2,9,6 D}

14. While using mixed strategies, the players must 14, ¥ wriftr & Swa <ivm, Raenfsat @
use - SYIART BT A1feY —
(1) Only one strategy each (1) 9P Had TP IO
(2) The available strategies equally (2) SUEel WHIRE B T9H T 3
(3) Information of each other’s strategies 3) s Eﬁ-ﬁs‘f 2 O Y W P
(4) The available strategies according to @) SFURT IHR T SIq SRy et
proportions and ensure secrecy of BT T TR BT S < §U
their strategy
IS, [y = emsin™x thepn (%)FO will be equal 15 IR y = emsx g (%)FOW
to - BT —
(1) m@m+l) (1) m(m+l)
2) m’ @ mw
(3 (@4+1)m (3) @*Dm
@ 0 @ 0
16. 1rp= %, then value of (xDl_' 5 x1V)is- 16. zfzp= %E’f ar (xnl- > D) Hr A B -
1) ogx (1) osx
X X
@ L @ 2
2x - 2x
3) logx (3) logx
(4) leex (4) loex
%% %2
02-O Page 4 of 32
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17.

18.

19.

20.

21.

g 2

A necessary and sufficient condition for a basic
feasible solution. to a minimization linear
programming problem to be an optimum is that
(for all j) —

(1) zj—cj=0

(2) zj-cj<0

3) zj-cj20

@ zj-cj=0

If internal of differencing is unity, then
A% (1-ax) (1-bx?) (1-cx3) (1-dx%) is -

1) 1-abed

2 m - abcd

3 |10 . abed

@ (abed)/ m
x+y'/2 oz ,
VY & then (a)(a,o) is equal to -
aa 2
3

2) «

3
@

If 2=

Glul wR

If S and T are subspaces of a vector space,
V(F), th‘gn which of the following relation is
not correct?

1 S+T=LEUT

@ LEUD=L(S)+L(D)

3) ScL(eL(S)<L(D

@ LILMI=LITI

Which one of the following is not a nature of 21.

Educational Psychology?
(1)
2)
3)
)

Behavioural Science
Positive Science
Normative Science
Applied Science

17.

18.

20.

Tep Rk TITHT TR & AN 3
AR YT B B T B B AAEIH
T At ud § (ol j @ forg) —
1)
()
3
@
G I BT I=NTT 5918 8, 99 A% (1-ax)
(1-bx?) (1-cx?) (1-dx*) B

zj—cj=0
zj—-cj<0
zZj—cj=0

zj—cj=0

(@) 1-abed
2 |10 - abed
3 |10 . abcd
@ (abed)/[10
x+ yl/2 oz

2= At & (—a;)(&o)w g -
1 2z

3
@)
@

3
@ =

3

qGe S T T, Th AR wHEfe V(F) B
Sogaiteyi 8, 99 1 3 & P Gy T
T8t &7

(1 S+T=LEUT

2) LSUT)=L(S)+L(T)

@) ScL(MeLE)cL(

@) LIL(Di=LI[T]

fFrfaReg § 9 90 R =i &
upfer & 27

(1) ERES s

(2) o @) fem

(3 fFrmme e

@) ST O

/ 02-9

Page 5 of 32

ﬂi


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

GET IT ON
Google Play

22. I f(x) = x (x-1) (x-2), ¥V € (0, %) satisfies 22- IR f(x) =x (x-1) (x-2), Y% € (0, %) AT
Lagrange’s mean value theoreni at point x = c, AN 9T Bl x = ¢ T G &al 8, af
then value of ¢ is - c Pl AN & —

D 6++21 M 6++21
6 6

(2) 6-+21 2 6-+21
6 6

3) 6++26 3 6++26
6 6

@ 6-+26 @ 6-+26
6 6

23. The asymptotes of curve X(x-yP—3 (*<yH + 23, TP x(x - y)*-3 X2~y & 8y = 0 Bl T
8y =0 are - w3k & —

(1) x-3=0;x-y=4andx-y=2 (1) x-3=0;x-y=4qRx-y=2
2 x+3=0;x-y=4andx-y=2 () x+3=0;x-y=43Rx-y=2
3) x+3=0;x~y=-dandx-y=-2 (3) x+3=0;x-y=-d3Rx-y=-2

24. It t is a linear transformation defined from a 24, IR ¢ |faw ke VE F V'(F) 9 aRwifva
vector space V(F) to V'(F), where V(F) is finite 6 Raw W B, Tei V(F) uRfAa i
dimensional, then which of the following is 2 ot o 9 9 oiar 9oy 87
true?

(1) rank (t) + dim (v) = nullity (t) (1) rank (t) + dim (v) = nullity (9
(2) rank (t) + nullity (t) = dim (v} (2) rank. ®+ nul!lty (t) =dim (v)
(3) nullity (t) + dim (v) = rank (t) (3) nullity (t) + dim (v) =rank (t)
4) nullity (t) — dim (v) = rank (t) (4  aullity (t) ~ dim (v) = rank (t)

25. Given-— 25. fam? -

x: 0 T Tz T x: 0 T T/ Th
o= 1 1.64872 23632 2.71828 =™ 1 1.64872 23632 2.71828
Then by Simpson’s -:1 rule, value of 99 RETas @ % frm 9, fog eSINX dy p

T
JZ e *dx is - (using 7 = 3.14159) qM ® — (m=3.14159 7)
(1) 3.09329 (1) 3.09329 )
(2 3.0999 (2) 3.0999
3 3.9529 3 3.9529
(4) 3.09000 (4) 3.09000
26. For algebraic structure (G = (0, 1], ), correct 26, 4 W (G=(0,1],9)F fow <=
statement is - BT & — 7
(1) itis only semi group (1) 9% DI A WE T
(2) itis moniod (2 dUT AFEs §
(3) itis group (3) U5 WE 2
(4) it is comrhutative group @) aE HARFRY TE &
02-8 Page 6 of 32
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27. The interpolation formula f(x) = f(1) + *ICr A 27.  3FIFM 9T f(x).= f(1).+ *1C1 AKO) + *Cz
f(0) + *C2 A® £(0) + *Cs A® {(-1) + &DCy A* A% £(0) + *C3 A3 F(-1) + ®DCy A* £(-2) + oo
f-2) + orrerrrrene, is known as - ST ST & —
(1) Gauss Forward formula (1) 7T SFT 3MFaa3M gl g
(2) Gauss Backward formula (2) +ita vem IFAdE 9 °
(3) Gauss Third formula @3) "ita e gm 9
(4) None of these @ T Y P IS
28. Which one of the fol]d-;ving is included in 28. f=feiRag # 9 @ FoR Ui ¥
hardware technology? wffera &7
(1). Teaching machine 1y Bror gwi=
2) Learging material (2) 3fErRm gl
(3) Teaching strategies ‘ @) REm—eEEa
@4 Tools of-evaluation ¢ d) TETET B IIHT
29. The condition that the cone ax® + by? + cz> + 29. g ax® + by? + cz? + 2ux + 2vy + 2wz + d
2ux + 2vy + 2wz + d = 0 may have three =0P N9 RO GIhI0E Wl gade 8
mutually perpendicular tangent planes, is - o1 ufgey & —
(1) be+catab=f+g?+h? (1) bc+ca+ab=f+g?+h?
) xZ+y?=7Ztan’e by (2) x%+y?=7tan’0
3) axb+c=0 3 a+b+c=0
@ va+vb+we+d=0 4 ua+vb+wc+d=0
30. If f(x) is an odd differentiable function defined 30. 3T ¥ zag R TR URVWINT W+ f(x) Th-
on set R such that f '(5) =-3, then £ "(-5) is equal vl 99 sameg wer ® fb £7(5) = -3,
to - 9 £7(-5) TR § —
@ -3 ‘ @ -3
@ 0 . 2 o
@ 3 . 3 3
(4) Does not exist ‘ @ Eme S
31. Which of the following are included in learning  31. = =feiRag ¥ ¥ g frm gfkar #
process? aftwfer 87
(A}  Psychology of learning (A)  SRFRT BT TEINET
(B)  Factors affecting learning (B) 3T &7 pWIRG F%S a91eT BRS
(C) Motivation for learning ©) T @ forT sfnon
Select correct option by using above SRITT FiYaEh B ST B 5%
characteristics — fReg @1 Tga AT —
1) Only(a) (1) I (A)
(2) Only (A), (B) & (C) (2) Hae (A), B) T (O)
(3) Only (B) & (C) , (3) @ad (B) T (C) )
@ Only (A) & (©) @) Pal (A) TE (C)
02- 8 Page 7 of 32
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32.  Image of a linex = %‘in the Z-plane under the 32+ Y@ x= %W Z e § HUTORe W= é;ﬁ
- . H A
transformation w = %is - It e & —
o2 vl =
M @-2+vi=1 1) (112-52) +v2_1
@ u+(v-17=1 @ uisv-1=1
@) @-12+v:=1 (Z) (u—l)ﬁq;v‘ =1
(4) straightlinev=2u @) v v=2u
33. Solution of minimal assignment problem 33. AT FRETH THRN HT T, FrEeET wfEar
whose effectiveness matrix is following — Ay fr=1 8, 3T — .
I 1 I v I 10 I 1\'4
A 2 3 4 5 A 2 3 4 5
B | 4|5 6 7 B | 4 5 6 7
C 7 8 9 8 C 7 8 9 3
D3 |5 | 8 |4 D3] 5 g8 | 4
O A->ILB-»ULC—IV,DoI (1) A-ILB-ILC—oIV,D>I
2 A-I,B-»>IOC—>IV,D->I 2) A-HO,BoSILC—=IV,D=I
@) A-ILB—LC—LD-IV 3 A-ILB-ILC—LDSIV
(4) All above 4) SWRiTT Ta

34. If g(x) is the inverse function of an invertible 34, AR g(x), T& chANG Werd f(x), Y
function f(x) which is differentiable at x = -1, x = -1 TR @B &, BT GAAH B ¢,
then g'{f(-1)} is equal to - T g/ {f(-1)} R & —

@ -1 @ -1
f'(—=1) f'(-1)
@ f'(-1) @ (-1
@ _1_ @ _1
f'(—1) f'(-1)
@ 1 @ 1
f(-1) f(—1)

35. The condition that the gradient of one line is 35, \¥I®ROT ax? + 2hxy + by? = 0ERT Frafug,
twice the gradient of the other line represented TF @1 S Y91 B §Ed T P Ggorar
by the equation ax? + 2hxy + by? = 0 is - ¥ SR BN BT Ui ¥ —

o ,_8., 1) 8.2
b 3 h ab = 3 h
@ 4 ) 4
b= — h? = — ]2
a 3 ab 3 h
3 _ 4., 3 2.2
ab = 3 h ab = 5 h
@ ,_8, ) B,
ab = 3 h ab = 5 h
02- 8 Page 8 of 32
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", — —_ ) —p — AT f“ . _— wy - .
36. A,-B and C are unit vectors. A isperpendicular 36, A B werm C3wis Wik €1 A, B 92 C 3

to both B and C and angle between B and C is D oaad S 9T B9 C& 49 DIvT 30° &,
30°. Then vector A is - SRy A L —
@M £(ExC) . M) +(Bx0)
v 13 = N —
Bl )« ~(BxC) @ =z %(B xC)
@) +2(BxC) 3) +2(BxC
1 | +2(B xC)
“@ 2 (B xC) @ i% (BxC)
37. Incorrect statementis- - 37. TAd BUA & —
(1) A skew symmetric tensor of rank N in (1) T Vn ¥ BN ¥F & un aafim
a VN will have no independent R & PIE @ad "GP T8 B |
components. : :
2) ViH w4 Vo & Rum gafm S
(2) Skew symmetric tensor of rank 4 in V3 @) 3R & N
space are identically zeto. LRI SR _
(3) If N is even, then the non vanishing (3) 3T N W €, 7@ ufy wEh| SR
components of an anti- symmetric P (0,N) UHR & I T8l s arel
tensor of type (0, N) is —A123 ..N HCH -Aps . N TPR B &
(#) In Quotient law, the arbitrary tensor @) e B R T e S

taken, should mnot posses any

*  symmetric or skew symmetric Emimg AT AT iy W wer
property. el B ey |
38, Which of the following is not a harmonic 38. = # § SI9 9T U€AE! Bl 8] 87

function?
D u=x*+y’ 1) u=x>+y?
@ u=x*-y 2 u=x*-y*
(3) u=sinhxcosy (3) u=sinhxcosy
@ u= élog x*+y?%) @ = %log &*+y?)
39. 3.b;¢ are unit vectors, band & are non collinear 39  3,b,¢ SIS |AY £, b ooy ¢ W 98 £
vector. If 3 X (23xE)=T5,thar; angle afe 3 x (zﬁxi:'):B’%, a9 39 ¢ 9
be;ween dandb is- PIT & —
. 1 90 (1) 90° ‘
(2) 60° (2) 60°
3 45° (3) 45°
@ o @ o
02-8 Page 9 of 32
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43.

44.

GET IT ON
Google Play

A child can classify,. arrange, combine and 40.
reverse order of different objects. According to
Piaget, this cognitive ability develops in which

of the following stages?

(I) Pre - operational

(2) Intuitive

(3) Concrete operational
(4) Formal operational

K y = y(x), then which of the following 41,
differential equation is linear?

D % + x2y=y1/2
) %- sinx =x"y

@ @+ T+PE@Y=0®

4
@ y+%=x+y

For the metric ds? = (dx!)* + (dx*? G(x!, x?),
the Christoffel symbol [22, 2] is -
@ g

ax2

2 12,

2 8x2
(3) unity
(4) zero

If P is an invertible matrix, then incomrect 43.
statement is -
(1) IfPis a diagonal matrix, then P! is
also diagonal matrix.
(2) IfPisasymmetric matrix, then P will
also be symmetric.
(3) If P is scalar matrix, ther P! will also
be scalar.
@) If|P|=6,then|P|=6

In Euclidean space of N — dimension, Af; is 44,

equal to -
® 2, . {k}
Ixj +A Ij
@2) oA
axj
(3) aa* A {k}
BX] I
@ A

T it faffi=T aegail @ aified, edfter,
e o 3R S BH A T Wadr B
ol & AR 9 WS Ire &I
e fFafaRad #§ | SeRT gy § g/
3?

(1) b — fFares

(2) =T

3 W TharE

@) Shvy=ERe haas

e y = y&x) =, Fﬁﬁ'ﬁﬁﬂﬁﬂﬁ%ﬁaﬁ
JHE GHIHROT 37

H @ = yl/2
D Lyxly=y

) :—i”- sinx =x"y

® @+ ZepEy=00)

@ e
y+ o =xty

0P ds* = (dx')* + (dx)? G(x', x?) B forg

e TiE [22, 2] BFI—
D g

_Gx?

2) 12
( ) Zasz

(3) wwE

@ =

g P @S gopiei Afgaw &, o o

HAT B — \

(1) 3l v Rl Afger & o P
f ol Afgag e 81 ¢

(2) IR Py wEfg Afgew @), o P
A wHiET g

(3) IRy Puw fdw Afgew &, o P!
T aifdsr ghm |

@ =Rk [P|=6,73 [Pl =6

N fadiig gfdeasiy gafe 4 A% aoeR &

SRR

axj Ir]
(2) oA

axj
3 98 o {k}

%j Ij b
@ A

02- O
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.

45. If Pu(x) is Legendre polynomial, then Pi(1) 45. AR Pyx) oy 9598 &, .09 PI(D)
is - BT —
2 2
o D oo
2n+1
- ? @ = -
n(n+1) n(n+1)
3) -——% 3) T
@ n(n+1) @ n(n+1)
46. box3 ¥ 46. 1= Y
Value of integral I I l * dxdy is - TP j j L e* dxdy &1 99 & —
[i} X 0 0 ~
@ e 1 e
2) e-1 (2) e-1
3) e2 (3) e-2
@) o @ o
47. The mean deviation from mean of the data 47. <GH®I a,a+d,a+2d, ............. a+ 2nd &1
a,a+d,a+2d, .ccceeen..... a+2ndis- qreg § gy g © —
@ D 1 (@D
(2n+1) d @) (2n+1)
(2) M 2 n (n+1)
(2n+1) d @ (2n+1)
n n
@ 5 d ® o
(4) EM (4) 1n(n+1)
2 (2n+1) 2 (n+1)
48. A moral perspective that focuses on the rights 48,  Silf® uRbew Wi =ifdy & affieR yeafag
of the individual is called — BT &, PEaar & —
(1) Care perspective (1) <= gRued
(2) Justice perspective Q) = gRuey
(3) Individualistic perspective (3) afaera gt
(4) Ethical perspective @ HfRrRE gl
49.  Ps(x) Q3(x) — Qs(x) Ps(x) is equal to — 49.  Ps(x) Qs(x) — Qs(x) P3(x) TR & —
(Where Pun(x) and Qu(x) are Legendre’s (ST8T Pa(x) T2 Qu(x) THS: WM  fgdl
polynomials of first and second kind YFR & 9g< )
respectlvely) ;
) %X ey 1;5
()] EEX Q) i—ox
@ x @) :x
@ =x* @ —x
50.. Equation of Tangent line at point A=1 to the 50. T r=(14A, A%, 1+ A% & &g A=1 o= Tl
curve r = (144, -A% 1+ AP) is - T BT TP & —
(1) 22_y1_z22 Qy x2_y1_z22
1 -2 3 1 -2 3
(2 Xz _yi1_z2 Q) *2_yH _z-2
T2 -2 3 z -2 3
i 3 *2_y1_z22 @3 x2_yxi_z2
; 1 -2 3 1 -z 3
@ x—1=-2(y+1)=3(z-2) @D x—-1=-2(y+1)=3(z—-2)
02- 3 Page 11 of 32
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“A” bag contains 2 white and 3 black balis and  51.
“B” bag contains 4 white and 5 black balls. A

ball is drawn from either bag. If it is black, then

what is probability that it was drawn from “B”

bag?

P %
45

@ =
156

@ &
156

@ 5
158

i i i ¥_ o= i 52

For the differential equation x 5~ Y=0 which .

of the following cannot be an integrating

factor?

@
@
3
@

!,_\ &m '<N|"" xm""‘

»
o+

y

If P be a 3 X 3 matrix whose determinant value ~ 53.
is 10, then the determinant value of the matrix
-3Pis -

@ 270

@ -270

3 207

4 -207
In solving by iteration method, the equation 54.
x? ~x = 1 =0, to be convergent in the
neighbourhood of its root x = - 0.62; can be
written in which of the following form?

1@ g=1-1
X
2 x=2x-x*+1

@) x=+Vx+1
@ x=x*-1

“A” Sl # 2 FBg T 3 Blell Vg SR “B”
o § 4 e g 5 drel A &) 5 T
e # I & T Noem R 399 Biel 1.
M W $9 99 B g4 widear & % 9g
g “B” St 9 Meprel T8?

n %
45

@ =
156

@) 5
156

4 -
158

Aghe ARG x%—y=0$ﬁﬂﬁﬁﬁ
§ BT TG UG o 57

@
)
3)

||_- &~ t<N|"‘ Mt\.\l"‘

)
x+y

I P, 3 %3 &1 TH Mg (Higaw) & foraar
ARG W A 10 € o egE -3P @i
AR &7 94 & —

1) 270

(2) -270

(3) 207

@ -207

TPl x> - x - 1 = 0 7 GRERT & 9
g B A I o x =- 0.62 & A +
IR B & forg, = A 9 59 W |
forg wad 7

@ x=1—§

2) x=2x-x*+1
@ x=+x+1
@ x=x’-1

02-©
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55. In which cooperative learning approach, the 55, @ ¥ HIR JEFRM SUFH ¥, eA0UH
teacher chooses a problem. for the class to P D MIAT b o0 U AT Hl g
study, but students decide the content they wish el B, R foemeft e MuiRg axa & &
to study in exploring the problem. The work is AT & 0 § S B Rrwaeg &1

1 divided among the group members, who work ST I 2| B Pl TE B aodi A
individually. Then the group gets together, gfe oy oI & < afeg w5y § o
integrating, summarizing and presenting the S ¥ fw ' TE  PeeY TR
findings? RS N Frepst 7 g 'EF??r,

(I) Learning together 2 3N i
(2) Group investigation ) & &
(3) Jigsaw classroom @) i
(4) Student-teams achievement division 2) I u” 1T
(3 Rt ser
@) TRl & (F9E) Suafer e

56. The midpoints of sides AB and AC of atriangle  56. T® sl ABC & 9ol AB R AC &
ABC are points D and E, respectively, then 77 fdg w9 D &R E § @8 BE @2 DC
resultant of forces represented by BE and DC ¥ i 96t o1 gRur aRaer 9 fRer §
in magnitude and direction is represented by - TR BT —

(1) 5BC (1) -BC
2—
@ ZBC 2 2BC
' (3) ZBA 3) BA
3= —
@ ;BC @ 2BC
57. 1 57. 1
7 Lim — {/1+0) -/ -0} = Lim — {/(1+x) /(1 -0} =
n 1 @ 1
2 0 @ 0
3 = B3 <«
@ 1 @ 1
2 2
58, flﬁ el®ldx is equal to - 38, f. 1‘5 elldx wR & —
(1) e @ e
@ (Z-1) @ (VZ-1)
@) Vz-1)e () (V2-1)e
@ o1 @ ov7-1
59. Value of the integral f01 g (%) dx is - 3. qampe [ 08049 gy w7 AT & ~
X 0 X
@ =’ 1 = f"
12 i 12
@ =? 2 mu?
6 6
3 =n? 3 =
3 3
@ n? @
2 2
02- 3 Page 13 of 32
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60. If 3 is differentiable vector point function and 60. Uk 3 sTwerig WY &g wem & TA v
u is a differentiable scalar point function, then B AfeT €5 He 3, 99 V x (ud)
V X (uad) is equal to - Y § —

(1) (Vu)xd+u(Vx3a) 1 (Vu)xa+u(Vx3)
2 (xw.d+u(Vx3d) 2 (@xw.2+uVx3)
() Vud+u(vxad) (3) Vud+u(Vx3)

@ Vuxd+u(Vx3) @) Vux3+u(Vx3)

61. The equation of the right circular cylinder 61. V& GiEERic SO BT WHIRT T i,
whose axis is x-axis and radius is “r”, is - X-318T TRIT I’ 9 8, B & —

O y+22=r M y+22=r

Q) Z+x*=p 2 Z+x*=r

@) X+y=r (@) Z+y’=r

@ 2+y*+z2=r @ xX+y*+zi=12

62. The evaluate of the parabola y” = 4ax is - 62. TIaT y?=4ax BT bl 8-

(1) 27 ay*=4 (x + 3a)* 1) 27 ay’=4 (x + 3a)*

@ 27ay*=4(x-3a)’ 2) 27ay’=4(x-3a)

3 27ay*=4(x +2a) 3) 27ay’=4(x+2a)

@ 27ay*=4(x-2a) 4 27ay’=4(x-2a)

63. t:R2>R%,t(a,b)=(a+b,a-b,b)V(ab) 63 NRad wuRT t:R2 >R t(a,b)=(a+b,
e R? is a linear transformation, then ker(t) is a—b,b)V (a, b) e R> &, @ ker(t) SI&R
equal to - -

@ {103} M {10}
@ {(1,-1} @ {1,-13
3 {(0,00} 3 {(0,0)}
@ {(0,0,0)} @ {(,0,0)}
64. Incorrect statement is — 64. T FUT & —
(1) If S and S; are two convex sets in R, 1 IS ?MT S, R* ¥ aY L e
then S1 + S is also convex set. e gr dl S1+ S A SrEE
(2) IfSiand S; are two convex sets in R", @ zrl%ﬂ S, aele S, RV B CIC]
then S1 — Sz is also convex set. w9 g, A $1- S W saHE
(3) IfSi=axx+byy+ciz+di=0and Y= 2 |
S2 = azx + bay + c2z + d2 = 0 are two 3 aﬁgl=alx+2ﬂ+clz+gl=gw
- . W S2=ax+ by +cz+d2=0,
planes in R", then (S; U S2) is a 33y = 2, T (51U Ss) & T
convex set. AT T 2 |
@ IfSi=ax+biy+ciz+d=0and @ A& Si=ax+biy+cz+di=0
S2=a2x + bay + c2z + d2 = 0 are two @A Sz = apx + bay + ¢2z + dp=0, R™
planes in R, then (S1 N Sz2)isa ¥ 9aad 8, O (Si1NS) W &
convex set. S = ® |

65. Number of integral solutions of the inequality ~ 65.  arqfyepr ’;"’2 s 1lg U Bl B A
x+2 1. X+1 2
+1” 2 18 - g -

ay s a 5

2 3 2 3

3 <« @ =

@ 4 @) 4
02- & Page 14 of 32
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66.

67.

68.

69.

70.

71.

Which one of the following statements is
incorrect regarding role of teacher in the
constructivist approach of teaching and
learning?
(1) Teacher should have fiexible and
good subject matter knowledge
(2) Teacher should have good pedagogical
skills
(3) Teacher should have ability to explore
principles in a variety of ways
(4) Teacher should have ability to
transmit correct content
If x = -y =z is one of the three mutually
perpendicular  generators of the cone
yz + 2zx — 2xy = 0, then equation of another
generator of the cone is -
() 2x=-2y=-z
@) 2x=y=-2z
3) 2x=-2y=z
@ x=-2y=2z
Which one of the following characteristics is
reflected in adolescents behaviour regarding
their social development?
(1) Showing interest in social problems
(2) Showing disinterest in social
problems
(3) Showing temporary friendship
attitude
(4) Showing general interest
The necessary and sufficient condition for a
curve to be a helix is that its curvature and
torsion are —
(1) in a cubic relation
(2) in alinear relation
(3) in a constant ratio
(4) always equal
Fourier transform of t et~%/2 js -
M) (1 -ip) e7Pe~®*-D/2
() (1 - ip) elPe®*-D/2
() (1 +ip) e~tPe=C*-1)/2
@ (1+ip) elPe~®*-1/2
If log,42, logo{2% — 1) and log4(2* + 3) be
three consecutive terms of an arithmetic

66.

68.

69.

70.

Rrr—atrm o FRRE sorm 3 a=y

4 fr=foRead § | ST HUF e 87

(1) SEIYF BT Tl iR =
faw—a%g @1 9 s =1y

(2) °EAUF H o8 REnm urEw B
B =Ry

(3) orame # fAfts Wel 9 Rigrat
@ YT BT AFFAT BN AINRY

@ o ¥ W RQug—awg @1
RIFFIRT B B G el
I

e x=—-y=2 9% yz+22x - 2xy = 0D

A R o Sl A ¥ B, 79 UG @

5l o SF FT1 FHIERoT & —

1 2x=-2y=-z

(2) 2x=y=-2z

@) 2x=-2y=z

@) x=-2y=2z

PRl & 9mifve e 9 9= @ger

gﬁﬁ;ﬁr@aﬁﬁaﬁﬂﬁﬁﬁwnﬁrﬁﬁa
?

1) e TRl § e g

(2) WHINIG TR § arefd AT

(3 Rl fear sifgRt gt

4) <M= ofE g

U% 96 P Bfcrad eF @ oY amawye e
AT O g, B gshar den Yod URER 8
#RY —

ORREEIGEG IR

2 aw T ;:r

(3) SR UM

@) T W
t et~t*/2 g1 BRY HUHR & —

1) (1 —ip) e7lPe~@*-1)/2

() (1 -ip) elPe*-1)/2

@) (1+ip) e-iPe-G*-D/2

@ (1+ip) elPe~C*-1/2
Il log02,logy o (2% — 1) I log;o(2* + 3)
TF AR Aeft & 9 sErta ue 8 ar

gruo%ression, then which of the following is e A P A T 2
e’ " M) x=logs2
1 =
= log2 3) x=1log,3
(3) x=log,3 4 x=1logs2
@) x=log,y2

02-8
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A learning approach that emphasizes the
importance of individuals actively constructing
knowledge and understanding with guidance
from the teacher is —
(1) Individualist
(2) Constructivist
(3) Scientific
(4) Cognitivist
According to Goleman’s book on ‘Emotional
Intelligence’ which one of the following
statements 1is correct regarding emotional
intelligence?
(1) Emotional Intelligence is less
powerful than L.Q.
(2) Emotional Intelligence is more
powerful than LQ.
(3) Emotion Intelligence is equally
powerful to 1.Q.
(4) Emotional Intelligence and 1.Q. are
not different concept.

If f; and f, are differentiable scalar functions
and v is differentiable vector function such that
fiv =iz, then v. curl vis -

W) £V +5VE
1 ail

@ VG-V

@) —VE+V=xV
1 1

4) Zero

Total number of subgroups of the symmetric
group of permutations-S3 is -

1 3

2 4

@3 5

@ 6
The probability that a man hits target is g. If the
fires 5 times, then the probability that he will
hit the target thrice, is -

@ 0%

@ £
@ 52
@ =

72.

73.

74.

75.

76,

ARMTY SUNH S AR b AFIGIE 9
Ffdq $ Gl Bk IF &R Wt & wior
P HET R §cf 9ol B, T8 & —

(1) <afdcamEr

2 ki

(3) d=ie

(4) <seTaral -

M 3 qaF Famead gila & FTaR

FrfeRaa ¥ ¥ ST $oM ST 9fE

@ Ty | wE 87

(1) HITAS gig, 8.4y, (geeien)
B AT § FH YA © |

() WM Y&, 8.9, (GEe)
B ol H AT FERIel © |

(@) <IME gy IR SR
(gfeaian) w9 wu A wuEee
=

(@) e g eiv Ay,
(gfgatdn) oy worea =8 €1

I} f; G £ AP Jfew wad B

Tq v Fapeid 9ey Hod 39 UPR B

fh fiv=vr,, dd v. curlv & —

o0 ;Il-Vf2+f2Vf1

@ FV&-Vh

@) éVfZ‘*"VéXVfZ

@ T

ARG T YU S3 @ W SU TRl Bl

& § —

@ 3

2 4

3) 5

4 6

TS STeHd] o W& T e o aiididdn

%1 a8 uim AR Frem e § 6@ 3 9R

W& T e @) wilkear € —

® 0%
@ gt
@ ¥
@
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If (0, 4) and (0, 1) are vertex and focus
respectively of a parabola, then its equation
will be -

1 x2+12y=0

2 x%2+12y=48

(3) x%2—12y =48

4 y*+12x=148
Area bounded by the curves y = 3-x* and
y=2x,is -

(1
@
&)

@ 533 5q. units
4

Order of element a* in the
G =({a, a%, a3, a%, a’, a’=e}, x) is -

(1) o

2 3

3 2

@ 4

16 .
3 sq units
27 .

2 54 units

12 sq. units

group

\ PZPi#E]
If A = (a;)2x2 and a = {i __].]_ = J]}' then
A~1is equal to -
@ [o

)

L@ Uil R, o U0

@ fo

@

If a mapping d : R* x R? = R be defined
by dxy) = |x —yil+1x2 —yal,
X = (x1, X2), ¥ = (¥1, y2) € R?, then which of the
following is true?
1
2)
(3)
@)

where

d is a metric on R?

d is not a metric on R?

d is not clearly defined

d is a pseudometric on R?

77.

78.

79.

80.

81.

afE (0, 4) T (0, 1) F TR & HAW
o wd A 2 a9 SHer WHIER BN —

)
)

x*+12y =0
x2 + 12y = 48
(B) x—12y=48
@ y%+12x=48
Bl y = 3-x GAT y =2x § URIF &m=rbel
T
1)

@

2t g
2ot garg

3) 12T 5P

@ Lo gard
gq G= ({a’ a‘Z’ 337 3.4, ,aS, 3.6=e}, X) ﬁf IqYd
GG

@ 6

2 3

3 2

@ 4

24250 %
T = (ay) 3xz AT @ = {i—j]- { = ]]},T'FST
A1 ERER & —

@ [o 5]
15 0
@ |, 1
0 3
I
.5
@ [0 —5]
-5 0
@) 1 ‘
5 9
0 1
5

afy v RIREY d: R2xR? —» R 39 UBR
AR B, dxy) = Ixy — yal + |%; — y2|, STET
x = (x1, %2), y = (yi, y2) € R, @@ Frt # 9
T e 87

(1) d,R* % & g

@
3
@

d,R? # T g A8l ©
A Y | TR e 8
d,R? & o BEA WS ©

62-
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82. -1 2 3 45 67 8 9 82. _(L 2 3 45 67 8 9
Ha=(; 3 96 452 3 10 qﬁ{a_(7-89645231)
order of ¢ is - T o B B & —

(I o6 1 6
@ 5 @ 5
3) 4 3 4
@ 3 @ 3

83. Value of the determinate — 83. logyx logyy logyz
logsx logyy log,z IR [logyx logyy logyz| &1 A/ & —
logyx logyy logyz| is - log,x log,y log,z
log,x log,y log,z 1y 3
1 3 @2 1
@ 1 3 -1
3 -1 @ o
@ 0

84. The pay off matrix of a Game is given below. 84. T& T BT e Ay P 21 B & farw
Value of game for B and position of saddle el &1 q1 o Yo favg ) Refy & —
point is — B

B 1 I m 1v Vv
I I I IV V I |[2]0Jo]s51]3
I 12,010/ 5]3 A m [ 3271122
III 4 "3 0 '2 6 IV 5 3 _ 4 2 _6
v ] 3 -4 2 -6
(1) —1 and saddle point is at position (2,3) D ;? T 147G W R (2.3)
(2) 1 and saddle point is at position (3,2) @ é“"“ Team fag @ Reifr (3,2) W
(3) -2 and saddle point is at position (4,2) @) -2 gsﬂ aeT fovg @ Reifdy (4,2)
=
(4) 1 and saddle point is at position (2,3) @ éa@” T fivg @ R (2,3) W

85. Choose comrect measures for effective 85. & ¥ Ul GUGUT § OE SUET BT T9T
communication in classroom — PIRTY —

(i)  Cultural disparities (@) ORPRE AR

(i) Audibility (i) ST

(iii) Simple language (i) %l H§T

(iv) Prejudices (v) tEIfﬂTE"

(v)  Variety of methods (v) Tafrel ot fafemar

(vi) Motivation (vi) SRR

M @), (), (iv) and (v) M @, (), Gv) T (v)

2) @, (ii), (v) and (vi) 2) (@), (ii), (v) TG (vi)

(3 (i), (iid), (v) and (vi) () (i), (i), (v) T (vi)

@ (i), (iv), (v) and (vi) @) (i), (v), (v) 76 (vi)
02-8 Page 18 of 32



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

86.  The integral 1 = [ VX gy is equal to — 86.  wHE@E 1= [ LELE, S
SINXCosX SINXCosX
@) log (tan g) +.c @ log (tan g) +c
(2) log (sinx) +c (2) log (sinx) +¢c
. () 2+vtanx+c 3 2vianx+c
4) —tan"1(cosx) +c 4 —tan"!(cosx)+c
(Where c in constant of integration) (STEl ¢ TaIBa BT SERIF © )
87. The least velocity with which a cricketballcan 87, T® fipebe dfct @7 SfdeT T 200 HeR B
be thrown at horizontal distance 200 meters is: & w9 ¥ (g=9.8 /9D
(2 =9.8 m/sec?) -
(1) 443 m/sec. 1) 4434 /IJ5Ts
(2) 45.3 m/sec. (2) 4537 /9T
| (3) 43.3 m/sec. @) 43349 /dpvs
‘ (4) 34.3 m/sec. @ 3434 /9508
88. The general solution of the partial differential  88. &fif¥[d 3Ehe FHIBROT  z—px—qy =
equationz — px — qy = ¢/ (L + p? + g*)is- c/(L+ p2+ q2) &T WY & & —
M z=ax—by+cy(d - a%=b?) D z=ax—by+cy(1l— a2—b?)
@ z=ax+by+cy/(1+ a2+ b2) 2 z=ax+by+c./(1+ a2+ b2)
3) z=ax—by—c(1+ a2+ b?) (3 z=ax—by—cy(1+ aZ+ b2)
@ z=ax+by+c(1—- a2— b?) @ z=ax+by+cy(1— aZ— b?)
89.  Amplitude of complex number sin%“ +i(1+ 89 wafwm <Hen sin’Z;—1E +1i(1 + cos 7?“) BT
cos 7?“) is - BV § —
10 . 10
0 10
T 5
10 10
99. Ifz=x +iy, then minimum value of [z— 3]+ 90. @& z = x + iy, W {z—3]+|z—4] &
|z — 4] is - RATH A B —
M o @ o
2 1 2 1
3 2 3 2
@ 3 @ 3
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91.

92.

93.

94.

95.

A girl is rewarded on alternative days for her
good behaviour by her mother. According to
behaviourism, this type of reinforcement is
known as —

(1) Fixed ratio schedule

(2) Variable ratio schedule

(3) Fixed interval schedule

(4) Continuous schedule
Under relation S, xSy iff xy is irrational V x,
y €R, then S is -

(1) Reflexive

(2) Symmetric

(3) Antisymmetric

(4) Transitive
Equation A18; + A2S2 = 0, does not represent an
equation of sphere, that passes through the
intersection of iwo spheres S; =0, Sz =0, if -

I A=-1

2) d=-1
B A=-h
@ =k

Which one of the following principle of
reaction is not related to concept attainment
model?
(1) Turning students towards inquiry
(2) Focus attention on specific features of
examples
(3) Assist students in discussing and
evalunating
(4) Help students’ balance one hypothesis
against another

If the displacement, velocity and acceleration
at a particular instant of a particle describing
simple harmonic motion are respectively 1 cm,
1 cm/second 1 cm/sec.?, then the maximum
velocity of the particle is -

(1) 6m cm/sec.

(2) 2v2 cm/sec.

@) % cm/sec.

@ 2 cm/sec.

91.

92.

93.

94.

95.

GET IT ON
Google Play

T TSP AT I8 FGER F oy e
BRI Uik fodi W™ gpg =il )
IIENAIE & IUR Yeer BT T8 UHR
HEAMT & —

(1) TRe argam s

) trﬁaﬁ:nuaaﬁcrﬁe@fﬁ

@) e sroRTer STl

@) W S .
W S B ald, xSy IR iR daw are
xydIRFT B Vx,yeER, 09 S & —

(1) g™

Q) At

(3) SERAa

@) |G
WWTMSPI—MSZ:O;E}TW&:O,
S =0 & UA®T A [oRT I Mel B
el B et e e B, afy -

O M=-1

(2) A=-1

@) M=—X

@ =X
fFefoReg & @ @ gfofra R
Y Uik Hise ¥ AR T8 8?

@) TR o v #Y @) dea

(2) Vel & fafre orE o wm
Piega s

(3) feEnffEl @1 uRemt ok goie §
BT UG BT

@) faenfii of v uReeysr &
a1 ®1 wgem T ¥ Hee
BT

S U HOT BT AR Iaa Ty F ey eor

HAS: ORI, O oo ever 14, 199
/ABvs e 1 9L /Jeved R, O) B BT
Siffrpe 9T &~

1) 6n9H)./Ipre
2) 22 JH. /Aove
€)] Tli JHL. / Apre
@ 2 a9 /Apve
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96. If a heavy string hangs over two fixed sihall 96, ITX T 9N TR0 &1 BIST R R Efeal
smooth pegs such that the two ends of the string N 9 UK wca § 5 e RR ga @
are free and the central portion hangs in a TRIT e | D & U § dchdr &, o
catenary, then the free ends of the hanging deHd §Y AR B Rr 8 —
portion will be - S3 S

(1) on the directrix of the catenary ) kil W

(2) on the tangent at vertex of the catenary 2) PN & Y W T
(3) inclination of the tangent at vertex (3) Qﬁé_ kN FT%’[ W q g
(4) None of these @ TG D ;@ _

97. Iffunctionf: R — R, whereRisthesetofreal 97. IR Wew f: R =R, W& R dr«ids
numbers and f(x) =1—|x—2|, then the ﬁ@l@ﬁiﬁr'ﬂﬂﬁm TEIfE) =1-]x—2]
range of f(x) is - B, @ f(x) P W & —

(1) (—,2) B (—x2)
@ [.1 i] @ 111
2’2 [_E ’E
@ [-2,4) @ [-2,4)
(4) (_00 ’ 1] (4) (_00 ’ 1]

98. Equation of a cylinder whose generators are 98. G I BT TR, RS HE y—91E &
parallel to y-axis and which passes through the HHOR & 920 Gl TE',‘[ x? +y? +22% = 12,
curve of intersection of surfaces : X—y+z=1 B Ul 96 § TR § —
X +y+22=12,x~y+z=1,is- (D)  11x%+ 11y% + 1022 + 24 (—xy + xz.—

(1) 11x*+ 11y* + 1022 + 24 (—xy + X2 — yz) =0

yz)=0 2) 2x*+322+2xz-2x-2z-11=0
(2) 2x*+322+2x2-2x-2z~11=0 (3) 3x2+222+2xz-2x—22—11=0
(3) 3x%+27+2xz-2x-2z~11=0 @) 2x*+3y*—2xz+2x+2z2-11=0
@ 2x*+3y°—2xz+2x+2z-11=0 ’

99, Tf latus rectum of an ellipse is one third of its ~ 99. IR TH <L B AT SHB! o e
minor axis, then the eccentricity of the ellipse BT U RS 8, O S9 SHga o) Il
is - T —

™ V2 G § )
3 3
2 2v2 2) 22
3 3
@ 2 @ 2
V3 V3
@ 35 @ 35
6 6
100. Shortest distance between lines 100. YERl = -3k dm F=(1-0i+2 P
t=—3rkandt= (1 —0i+26is- . AT TR T B -
@ 1 @ 1
i 7z
@ 2 @ 2
V5 V5
@ 1 @ 1
V5 VB
4 0 @ 0
02-O Page 21 of 32
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| 101.

102.

103.

104.

105.

106.

Let N be a normal subgroup of a group G and
f: G—>-S is a mapping defined by f(x) = xN
Vxe G,thenfis—

(1) monomorphism

(2) epimorphism

(3) isomorphism

(4) automorphism
Reciprocal cone of cone x* + 2y* + 32> =0 is -

1) 6x2+3y>+2:2=0

@ 3x*+2y*+22=0

2 2

@ T+i+z22=0

@ 6x2+2y*+3z2=0
The locus of the points from which three
mutually perpendicular planes can be drawn to
touch the elllpse =t y =1,z=0is-

1 x2 —y z = a b2

2 -y +22=a2-b*

3 X+yr+zi=a’+b?

@ xX*+y’-2=a’+b?
If additive inverse vector of vector pi + 2j — 3k
is the vector (vabi+vb j +./p k), then which
of the following is true (a>0)?

(1) p=9,b=4,a=3/2

(2) p=9,b=4,a=81/4

3 p=3,b=4,a=81/2

4 p=9,b=4,a=9/2
Length of chord of curvature perpendicular to
radius vector of curve p = f(r) is -

1 2w '

f' (é)

2 2
@ m TG

3
©) m 1]

4
@ & VTP

T'(0.1)T(0.2)I(0.3) .....
H o

['(0.9) is equal to -

(2) (w22

3 mez

4 eu°?

101.

102.

103.

104.

165.

106.

GET IT ON
Google Play

A ifSiY 16 WE G H1 e TEE
SUHgE N & aui gk f:G—>§ £l
THR g & fF fx)=xNVxe G, @l f
3

1) THH GHEIHIRAr

(2) SITBIEH AHIBINGT

(3) TeIPINar

@ IR

Tiq x* + 2y + 32° =0 PT FShH TG & &
(1) 6x2+3y?+222=0

2 3x2+2y?+22=0

() ";+3;—2+z2=o

(4) 6x>+2y’+322=0

Gﬂﬁgaﬁasrﬁgw%%ﬁﬁé‘réqﬁ

(1) Xz_y2_22=a2_b2
(2) X2__ 2
B x*+y’+z2=a’+b?
@ xXP+y*-2*=
o wijw  (Vabi+vbj+,/pk), |l
pi+2j -3k &7 Iow ufoam afew 8, o
/1 49 Bivr a9 8 (a>0)?
(1) p=9,b=4,a=32
2) p=9,b=4,a=81/4
3 p=3,b=4,a=81/2
@ p=9,b=4,a=9/2
THp=1(r) ® T ga=<R Y& & cgaq Ipen
ST I olars & —
1) e

o
@ m -l
® = m 1-[f]?

4
(4) f() 1-[f@)]?

r(0.1)r'(C.2)r(0.3) .....
@ e

r(0.9) ¥R & —

g

@ o

3

3 w2

&

@ ez
VB
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107.

108.

109.

110.

111.

112.

It (1+a)2=C+Cla+Cya’+-+

C,za'%, then value of 2.2 1351458,
C, Cz Cs

C
e+ 12,222 s
Cis

1)

(2)

3)

@
Which among the following is included in the
‘process’ subsystem of education system
approach?

(1) Instructional material

(2) Contént

(3) Instructional strategies

(4) Curriculum
If one of the line of the pair of lines a% x* +
4h xy + b? y2= 0 bisects the angle between
positive part of coordinate axes, then -

(1) a®+b?=-2h

(2) a?+b?=—4h

3 a+b=+4]h|

(4) a?—b%?=—4h

X-3 y—4 z—5

If line —— === lies in the plane

4x + ¢y + 4z — d = 0, then values of c and d are
respectively -
I 5,3
2 0,-8
3y -8,0
4 8,0
The coordinate of the point at which the line
2x — y = 12 is normal to the parabola y? = 4x,
is -
(1)
¥)
3
@
27-4

Invariant points of the transformation w= _—

(©;6)
©, -6)
@, 4)

@, 4)

arg -
)
@
3
@

2 and -2
vZiand —
2i and -2i
iand -i

V2i

107.

108.

109.

110.

111.

112.

I (1+a)2=Co+Cia+Ca?++
Clzalz _E-PI', Fn. 2.%2;+3.'g‘z'+4,a+...+
12. 22, 1 7 2 -

®
@)
3)
@ 77

Rren gorel Surtd yikar  Suyumell #
e # 9 @ afRafer 87

(1) SFRIARTS Al

2) fow-awg

(®) SIIIERHS IR

@ UG

e @ Y a?x? +4hxy + b2 yi= 0 @
tw Y@ e sl & uAEE AT @r
THgISTa Bl 8§, O —

(1) a?+b%2=-2h

(2) a?+b%?=—-4h

(3 a+b=+4n|

@ a* —b2=—4h

uﬁ:%@"' Y; Tmaa' 4x +cy + 4z
—d_oﬁ@%‘ﬁa‘r,a‘rcaﬁ'\fda%mam:
3 _
®
2

5,3
0,-8

(3) -8,0

@ 8,0

S0 fag & fdenie w8 W@ 2x -y =12
WY y* = 4x T TS B, § —

® 9.6

2 ©,-6)

3 @49

@ @G-9
ZZ 4

IR w = = & FeR {g € -

23R -2
VZ2iak — v2i
2i 3k -2i
ielR -

)
2
3
@
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.

uﬁp,xéﬂé'asﬁﬁemﬁ%,gaaﬂfﬁa

113. If P is a specified function of x, then the 113.
. . . . dy P y-y? '
solution of the differential equation == TEERIT %= P 3;?2 o1 5 BRI . ,
is - -
(1) y=CP ) y=CP *
2 y=P+C 2 y=P+C
(3) y=Pi @) y=Phx, R K
@) y=P/(x+C) @ y=P/x+O) -
114. 1 3,(x) is Bessel’s function, then = [(p(x))2] 114 IR L&) g P e i’} 8 o
is - —[(]n(X))Z] -SBFTT _ -
@ 5 [00-2(0)* + Unia ()] ® 26200 + Gnen 0OV ]
(2') -Zin [(In—l (X))z - (Jn+1(x))2 ] (2) % [(I'n_l(X))z - (In+1(X))2c]‘
@ 2li®[Jn-1) ~ a1 D) ] 3 2ly®[ )1 ® = ?n-‘i—l(x) ]
@ 2Jn ([ Jae (0 +Jp-1X) ] @ 21 ® + @]
115. Every infinite cyclic group has - 115. 9% SMURRR THa 4 TEar §—
(1) One and only one generator (1) TF AR $Id (&F S !
(2) Two and only two generator 2 IR BPIATT TS : -
(3) Infinite generators (3) o 9 h R
(4) No generator @ PE TP T )
116. The formula to calculate the coefficient of 116. @geid @™ & s Eﬁf U, B BT
quartile deviation is - 3 & — .
1) BEU 1 B+t o .
@ 2 @ wu
2 2 -
3 BUu 3) B T
Gt T -
@ B% @ Q% R
Qa+ Q1 Q3+ Q1
117. The point on the curve y = x> —3x + 2, where 117. TH y=x" —3x+2'dv‘rﬂ'a' ﬁlﬁ %RTW REE]
tangent is perpendicular to line y = ix, is - T, NGy = —X RS ?F?t % k3 iy
;ﬁ-l(
A (V2,2-+2) O (V2,2-v2) - e
il
@ 1,0 2 1,0 . S+
3 0,2 @ 02 ' AR
. @ (1,2 @ 1
118. A geometric progression has first term 3 and 118. U® TUIRR —ﬂ“ﬁﬁlﬂ?ﬂﬁ?ﬂ T3 § @R
the sum of all its 2n terms is three times the sum qﬁe E'E‘; \H:I:'[_JTZH nga’—r ‘T IF A I
of its odd place terms, the common ratio is - N il TTIT 8, # “Té T3
V)] % 2) 3 ]
3 4 3 4 '
* .
@ V2 @ vz o
02-O Page 24 of 32 ) 5;!
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119. A semi-circular disc with centre at origin and 119, Z—9#dd ¥ & g g@d B, foraer
f radius 2 unit is in Z — plane, its image in T 1 fa=g T o 2 3o6TE 8, warw
- w-_'pla_n;e under the transformation w? = Z w: =7 % I SUD! BT w-GHad H
is - p &
! (1) circular disc of 1')a(}ius 2 units O T T R B 2 3 @
2) 'serﬁi‘—cir?ular‘ disc{df'radius V2 units @) VI B T anfg T
{33 quarter c,%rcular d%sc czf radTus V2 u.mts @) VI T Fror aeh et g9 T
(42 ‘ gauarter_‘mrcular disc of radius 4 units @ 43P Ry are e 7 T
120. Thej’sum‘ ofthe coordinates of a point lying in 120, yz—&der ¥ Rerg fbel fimg & Fceriat &1
the.yz.— plane is 8. If its distance from xz — AT 87| AR W fag @ xz—awae 9 g,
pliane is. thrice to its distance from xy — plane, SID! xy—Fde | o @ forEh g1, Ol T9%
then. its coordinates are - . enis & —
L 62,0 , @ 620
- @ 0.6,2) , @ (0.6,2)
¢ 3 ©.2,9 3) (0.2,6)
@ 200 @ (2,0,6)
121. Incorrect statement is - 121. 9d HeF § -
(1) Every element of the ring [{0, 1, 2, 3, (1) Ta7 [{0, 1, 2,3, 4}, +5, X5] BT TIH
4}, +s, Xs] is unit elerent. AT Upd a9 & |
(2) '[{0, 1}, +2, 2] is a Boolean ring. (@ [{0, 1}, 42, %] T& Ffera= 99 T
(3) (Zs, %3, x3)s a field. (3)  (Zs, +3,%3) TB DI @) |
Ezl) ' Every finite integral-domain is a field. “ %;TW%TW Q}Jﬁﬂﬁﬂ U T &
- 122.  SGlution of equat‘ions%z -~y ; % =wxis- 122 o %: -0y ; % = WX BT FA & —
- (1) x=c1cos ot +c sin Ot (1) x=cicos ot +c; sin ot
*  y=cC]sin Ot - ¢z cos Wt y =c¢1 sin wt - ¢z cos wt
(2) x=cicos wt+c; sin ot (2) x=cicos mt+ ¢ sin ot
y = ¢} sin ®t + c; cos Wt y = c1 Sin ®t + ¢z cos ot
é 3 x=c sin ot - c2 cos ot (3) x=cy sin ®t - cz cos Mt
*  y=ci-sin @t # c2 cos mt y = c1 sin ®t + c2 cos Wt
. @) x=cicos Ot +c2 sin O 4) x=c1cos 0t +czsin ot
! ‘ S'r-:cl cos @t - c2sin @t ¥y =Cj COS Mt - c2 8in Mt
123, Incorrect statement is — 123. T HUT & —
£ e : (1) TP WEd NP WHte SIS e
(1) A compact metric space is sequentially o £
; compact. ‘ 2) T Wed e e UH g
1(2‘) A"closed subset of compact metric SUEE Ed el ¥
: Space is compact. @) v Wed We A  giegEl
(3)r . A compact metric space does not obey AZTEEN YU B YTl 8] ]
’,; Bolzalio-Weierstrass property. E:l
,(’:‘l) Each finite subset in a metric space is @ w P wAe i Te Ul
compact. SUHgTH Hed BT &
- 02-Q 15, v Page 25 of 32
3



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

124. 1£3 and b are unit vector, then correct statement 124 I 2 @ b P GRXY £ o 9f HoA
is - g - .
(1) 3 +b will never be a unit vector M ZipHN G SH1S AfeY 8 B .
- — - bad . - "‘
(2) 3 +bis unit vector, if d is parallel to b @ F+bzeE wRw § wRIb @ {
() F+bis unit vector, if Fis AR B J
perpendicular to b @) F+bzod wlkw € IRk 3, b
(4) 3 +Dbis unit vector, if angle between o - . D oo
o L m.oom @ F+bzor WY § aRkaTn b ©
aand bis ry —— ﬂﬁUT z?n 3
125. [*]o(D)]y(x — )dt is equal to - 125, [*Jo(0)y(x— dt TR 2 —
(1) cosx (1) cosx
(2) JofX) cosx (2) Jo(x) cosx ~
3) Jo(x) —cosx (3) Jo(x)—cosx !
@) Jo(x) —sinx 4y Jo(x)—sinx
126. Dist bet lar ints  126. i I i
istance etween polar points gdrr fgalt (11’3) I (8,5) & dra g8
1 T -
(10.5)and (8, is- 3 _
(1) V190 units (@) 190 z&iE
(2) +/185 units 2) /185 s@E
(3) 3 units 3) 3 THE k
(4) 19 units @ 1955% |
127. Lengthof the arc of the cycloid x =a (@ +sin0), 127. <ol (WiSTigS) x = a (0 + sind),
y = a (1 — cos ) from the vertex to any point y=a(l—cos8) & M¥ q ola¥ 59 = fHad
(x,y)is - % x,y) 9% =0 daE 2 —
@) 4a sin g ) 4asin g
@) 2asin g @) 2a sin-g
3)  4acos g 3)  4acos g
@ asin g @ a sin g- )
128. Which one of the following is a limitation of 128. e} WERG IR &I FrfeRag 4 9
computer assisted learning? BT TR HEr 87
(1) Auto - instruction (1) W—sFRIA
(2) Individualized instruction (2) fwE (ﬂﬂa‘gﬁ
(3) Self pacing instruction (3) IR Glﬂ'c\TE'F[
(4) Machine instruction @ 3@%{31?[
02- & Page 26 of 32 K
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129. Incorrect statement is - 129. A BN & —
(1) Set(-2Z)is an ideal of ring (Z, +, ). (1) =g (2Z) 961 (Z, +, ») B TF
: (2) Set 2Z and 3Z are ideals of ring OSTEE & |
J (2) W= 2Z AT 3Z ol (Z, +, ») Bl
(Z, +, ) but (2Z U 37) is not ideal. TP m & tﬂﬂ QZ U 37)
(3) There is no proper ideal of the ring MRS g
B T (Zs, +5, X5) DI Bz S
(Zs, +s, Xs). .
. eTSTae 8T T
(4) Sets 4Z and 5Z are ideals of the ring 4) THTY 47, TR 5Z 901G (Z, +, +) Bl
(Z, +, ) but (4Z  57) is not ideal. TomeE # Wy 42 0 52)
Wra?vﬁ TE B
130. 3 5 130.
':_ _|1_+_IZ+ é_‘_ 9E+ ........................... L L L— I_g— + ...........................
is equal to - TR & —
1 e L e
2 3e-—e™ @ 3e-—e™?
2 2
3) 3e+4e? 3) 3e+e?
2 2
@ 3e @ 3e
2 2
131. Whenx; —xp =>=(x; —%;) = (x3—Xz),then 13l wq x, —x,= % = (x; —X1).= (x5 — %,) T,
f (X0, X1, X2, X3) IS equal to - AT f (xo, X1, X2, X3) IR & —
M 2 A3 (x0) @ 2 A% (x,)
3
@ A £(x,) @ A £x,)
3. 13
() 2 A% (xo) @ 2 2% (xo)
@ 2 p3 (xy) @ 2 23 (%)
) 132. Polar line of line > . y_—l 2 with respect 132, g E—:—l = y_;11 = 5:;—1 B A 2+ ¥+ 22 =
to the sphere x* +y +z2-21s~ 2% Qe gay Y@ § -
@ x-y+z=0 Ay x-y+z=0
X+y+z+2=0 ’ X+y+z+2=0
2 x-y+z=90 (2) x—y\+z=0
~X+y—-z-2=0 ~-X+y—z~-2=0
3 x-y+z=0 B x-y+z=0
X+y—-z+2=0 ~X+y—z+2=0
4 x-y+z=90 4 x-y+z=0
4 X-y+z—-2=0 —X—-y+z-2=0
02- O Page 27 of 32
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133. Theanglebetweenthelineyéz—x?:ﬁb andthe 133, Y& y=z-x=0 = t=7/2 W Th

134.

135.

136.

tangent line to the curve x =a cos t; y =asint

hi

z=btatt=m/2is -
(1)

1- b-a

|vb2+aZ

tan”

@

1] b-a ] 3
cOos

Vb2 4 a2
1 [ b+a

| VbZ +a?

&)

cos”

@

- b-a
cos!

The number of different 5 letter words, with or  134.
without meaning, that can be formed from the

letters of word “SRIRAJASTHANAMA” is -
® “cxls

@ "p

LRz
°c,x|[5

8C, %[5 )

3
@

If F is homomorphism of a group G into 135.

another group G' with kernel k, then which of

the following is true?
(1
)
&)
@

k is a normal subgroup of G
k is a normal subgroup of G'
k is not a normal subgroup of G

k is complex of G

136.

Moment of force about a point is -
(D
2
&)

a positive number

a negative number

a real number equal to magnitude of
force

@

a vector quantity

2
H

x=acost;y=asint; z=bt B W ¥ B
99 Pl & —
1)

[ b-a
| VbZ+a?
1 [ b-a
| Vb2 + a?
K] [ b+a

cos” ‘
/b2 4 a2

tan?

@

cos”

&)

@

1 b-a

’2(b2+a2)
“SRIRAJASTHANAMA” 31§ & &R 4§ 5
faf= ceR dex T 9M 9 =], s
PIg ef g AT Tl B, P HERT B —

@D Bcx|5

@ n

1512 12

°C,x[5

cos”

3)

@ *c,x|5

S F, TE G¥ TR WF G'H |ADINT

s, e (k) k 8, @9 Fra § & s

| 37

(1) k, G & THF STFE ©

(2 k, G & UEMrY SUEE §

(3) k, G &1 YUY SUNE T8 8

@ k Gor s g

T BT & {95 & SATUET M0 & —

(1) Uo gl |E=T

(2) T ROTHS HE

(3) 9 & IRANT & IR TP AP
e

@) TS | Ak

02-8
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137.

138.

139.

140.

The objective function of the dual problem of 137.
the following primal problem is —
Max (z) = 3x1 — 3x2
s.t. x1<4
X256
K1+X2£5
-x2<-1
X1, X220

(1) Max (2" =—4w) — 6wa— Sws + Wy
by

(2) Min (z') = — 4w1 — 6wz + 5w3 — W
13
(3) Min (2) =4w1 + 6Wa + Sw3 +wWq

@ Min (z') = 4wi-— 6W2 — Sw3+ W4

The three straight linés 3x+4y+6=0, 138.
4x+7y+8=0,x+Ey+2=0

are -
(1) Parallel
(2) Sides of a triangle
(3) Sides of isosceles triangle
(4) Concurrent
One of the eigen value of non singular matrix 139.
Asis 7, and its determinant value is also 7, then
the eigen value of Adj A is -
(1) 49
2 7
A3 1
(4) Zero
If two forces are acting at 90°, their resuftantis 140,
R, but when these forces act at §°, the resultant
is (2m~1)R and when actihg at (90-8°), the
resultant is (2m+1)R, then 8 is —.

@ tan (22:1)

@ cost(Z5)
(3) -1 (l’ll'l'l)
@ cos™(25)

= e 99w 9 89 ORIl B Sed
T § —
g (z) = 3x1 — 3%z
EIRERC X124
X2 <6
X1+ X255
—X2<-1
X1, X220
(1) SIEBETA (2) = 4wi — 6w2— Sws +
W4
(2) “IdH (z')y =—4w1— 6wz + Sws —
W4
3) ATH (2') = 4w + 6wz + 5w3 + Wy
@) HATH (2') = 4w —6w2 — Sw3 + wy

A W vE
3x+4y+6=0, 4x+7y+8=0, x+

Ey+2‘=0'§—
1) TEAR
@ Fr B e
@) wHEEE B B gy
@ |

T As BT TF AE
AN 78, T 9dl GRPE 99 € 7 &, 99
Adj A T ST 79 & —
L 49
@2 7
@ 1
@ I
IfE g1 97 90° W fHarie &, ST gRum
R 2, <f% V9 78 9o 0° R fhanha g
IRl Qm-1)R & T (90°-8°) TR
gv‘ﬂﬁﬂ?rr%,ﬂ’srqﬁlfmﬁ(ZmH)R EAGEN
(1) tan™? (?‘m_l)

2m+1
@ (22
(3) tan~ 1(m+1)
(4) - (m+1)
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141.

142,

143.

144.

145.

146.

Coefficient of [z"2 + (—1)*"2z~("2)] in the

X 1

expansion of e 2) s -

@) ~f2x)

(2) Ina(—x)

3) Tuakx)

@ (1D aa2(=x)
In which phase of syntax in Inquiry Training
Model, the students verify nature of objects and
conditions?

(1) Confrontation with the problem

(2) Organizing, formulation and

explanation

(3) Analysis of the enguiry process

(4) Data gathering ~ verification
If the equation x?+ ax + b = 0 has roots o and
B, then value of (1 +a + a?) (1+p+ B3
is -

(1) a?+b?—ab—a-b

(2 a?+b?—ab-a-b-1

(3 a?+b? —ab—-a-b+1

4 a?+b’+ab—-a—-b+1

Principal value of cos™ (cos (%n)) is -
@ —m

4
2 3m

4
3 7
4
@ I
4
Double point of the curve x> — y2 — 7x% + 4y +

15x-13=0is-
5

® (:2)

@) 3,2

3 G2

@ 2,3
Three cards are randomly drawn from a pack of
52 playing cards. The probability that they are
of the same colour is -

P 1

17
@ 2
17
3 £
17
@ Z
17

141.

142.

143.

144.

145.

146.

GET IT ON
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27 2) & waR #
[zn—z + (_1)n=2z—(n—2)]‘ BT -;Iun-q; T —
1) 2
(2) Ta(—x)
3) Ja2®)
@ D))
IIT (SVaTSRY) ufdETeT dAisd § Read
o B s # REml o @ el
iR uRRerfRET @7 wenfia H 87
1) T 6 B
(2) =raRefERer, iR gd e
3) IO Uk HT faveryor
@) STPS] BT THANBRIT — FHATIER

I FFET X®+ax +b =0 T o TA B
g @@ (I+ a+0®d (1+B+p> T a4
B —

@M a?+b2 —ab—a-b

2) a?+b?*—ab—-a—-b-1

3 a*+b?—ab—a—-b+1

4 a?+b?*+ab—a—b+1

cos™ (cos (Sf:))iﬁr T A 8 —

@n T

4
@ 3m

4
@ 7n

4
(C)
4
TGh X -y -T2 +4y + 15k - 13 =0T f§&
g & -
5
D (2)
@ (3,2
3 3.2
@ (2,3)
AT T 52T W 3T IRRES w9 A
o o €1 599 UF 8 [T B BN B
wifear & —

@ =
17
@ 2
17
@ 2
17
@ 2
17
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147.

148.

149.

150.

The
sin px cos y = cos px siny.+ pis:
0y 2
@
(3) y=cx-coslc
C)

Heightened emotionalit} like moodiness and

solution of differential

y =cx?-cosp

y = cx-sin’lc
y = cx2-sinlp

nervous mannerism in a person, is shown due
to — ~
1)
(2)
3
@

Lack of emotional Balance
Due to emotional tolerance
Due to emotional ‘control

Lack of emotional dep'rivation

1 2 2
IfA= -;-[2 1 —2] is an erthogonal matrix,
X 2y

then (x + y) is equal to -
1 9
2) -9
@ 3
@ -3

Value of [, (xyi+ y?j). (idx + jdy), where C 150.

is the square in xy - plane with vertices (1, 0),
(-1, 0), (0, 1), (0, —1) respectively is -

D -2

@ 4

3 o

@ 2

equation 147,

148.

149.

Hddbel Wsinpxcosy:cospxsiny+p
PBTEA T —
4y
(2)
(3) y=cx-coslc
@ y=cxsinp
U Afd & SE  HPTeal o
FReRRraT wd Siford (@) @aeR
9™ &1 RO & —
(1) FTEE T BT P

y = cx?cos’p

y = cx-sin’lc

(2) HIHAS FEe ® BRU |

3) oms [{Ea=er ® eRu

@) GIIHES T BT BA
12 2

ﬁA:%{z 1 —Z]QiﬁaTﬁ?ﬁﬁﬁW
X 2 vy

g, T (x+y) WER & —

@ 9

2 -9

3 3

@ -3

Jo Gyi+y?).(idx+jdy) @1 wH, Sl
C, xy T ¥ P T & Rrwe fiT e
(1,0), (-1,0), (0, 1), (0,-1) & & —

(1) -2

2 4

3 o

@ 2
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